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Mote © Four possible chorces A B.C.D 1o sach question are glven. Which cholce is correct . M that crele In front of that queston

- e

!

]

}

Auwmnber. Uss marker or pento Ml the circips. Cutting or flling wo or more cicles will reaull In zero mark I thet question
Economics was considered as z Science of Material Welfare by . A B 4 S S | 1,—_‘Ufr
| AdamSmith o 2l (D) Robbins L gl (C) Keynes -’._ # (B)  Marshall o S (A) {1} !
When Marginal Utility is negative, then Total Utiliey b -_," PR LS (';"' -t {2) '
Increases twax (B) Decccases .r_*_rll‘rnf‘ (A) l
l Becomes Negstive 5.!.';;.#&;' (D) Does not Change O N () | . ,
The Relationship between Price and Demand is : : < ThLb > ) QP {3)
Positive <=2 (D)  iIncreasing &2 (©)  inverse JA (B) Direct serLeie (A) E
The Slope of Supply Curveis PG P Kl (4) :
Infinite 50 (D) Zero A (C)  Positive =2 (B) Negative ¢ (A) E
The Price of Perishable Goods is changed by : < 'jrr Jrad b bl (5) :
Income < Jui (D) Government r_.-:.-"; (_C) Supply < - (B) Demand < b (A) B
The early application of Law of Decreasing Return ison | Dot Jue e J"Ip.,kw;i?_' {6) r
| Housing ¢ =" (D)  Trade (= (C)  Agriculture ; =riy (B) Industry ¢ =’ (A) N
The sum of Variable Cost and Fixed Cost is - A Iy L Py (7} |
Variabie Cost .J;w;? (B) Fived Cost —ti e (A) E
Total Cost _.JMJ (.DJ &vcrl_gt Fixed Cost .J;Lo'.:fl_vﬂ (C)

As 3 Factor of Production, River and Sea are called . Lo ..:":;4.‘ SV ot (8)
Entrepreneur ,’1‘; (D} Capital oy (O Labour oo (B) Land 25 (A) _

The Opposite Market of Perfect Competitionis c a* J <6 J; (9} |
Monopolistic Competition Su-linst (B) Monopoly SrAnspt (A) |

Oligopoly o3 (D) Duopoly rerr (C) I

A Monopolist controls the Supply S - 7 Ui g oan ﬂmlr.f f- (0 !

Absolutely Nil _;:'Uj, (D}  More w1 (C) Partially  Js22 (B)  Totally (A) |
Which is not included in National Income .' -.:i.rr .,}f Je 2 Jﬂu’f Sof :-_,,_;.';;ﬂl (11} )
Transfer Payments UvZli J&1 (D) Interest  s» (C) Wages L21(B)  Profit g (A) l
The Purchasing Power of Money Is called L e bele F st (12) 4[
Value of Money . .0 (B) Quantity of Money .. Ll (A) ;
Credit Money . A31(D) [ratrument of Money . JT (9] ;
The Living'Shndard increase in T ¢ Lﬁuv } uk’fj‘; (13) 1
Depression £ .74 1 (B) Boom 2 i o (A) 5
Recovery _v'-' dﬁ_ (D) Recession £ o (C)

FFurtlg.n Exchange is not used in  : Y-8 N1 It (14) |
International Trade - :.quF/! {B) Domestic Trade 2 ..':alp‘...ﬁ (A) ' i
International Market 2 Lfifd';‘-ﬂwf_(D) . impurts £z, () N .

The Indirect Tax is - < Jg hfyl {15) |

Property Tax ﬁﬂ-ﬁ' (B) Income Tax u’gJJ {A) . [
Sales Tax _)‘?k (D) Wealth Tax u’g;-m (C) _
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